Maytag PAVT910AWW 03 - CONTROL PANEL & TOP

R

OOOOOGO.

21— o @

o

22 | Seeitems 22,23 & 24 |

Maytag Residential Maytag PAVT910AWW Washer Parts Parts Diagram 03 - CONTROL PANEL & TOP
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 21002224 Screw
2 25-7893 Screw
3 35-2026 Lid
4 31001721 Screw, Abno.8-18 x 3/8 Hxws
5 Y2201474 Switch, Pressure
6 21001527 Shield, Rear
7 21002056 Timer
8 253092 90767 a:;e:jw_,r 683) $g3/8 HeX Washer
9 21001547 Endcap, Panel
10 12002749 Hose, Flume Kit
" 31001721 Screw, Abno.8-18 x 3/8 Hxws

Screw, 8A X 3/8 HeX Washer

11 25-3092 90767 Head Tapping
12 21002077 Shield, Control-1 Hole/Console
13 35-2044 Hinge, Lid

14 21001932 Valve, Water Inlet


http://www.pwslaundry.com/c-505260-residential-maytag-pavt910aww-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10409701-maytag-21002224-washer-dryer-screw.html
http://www.pwslaundry.com/i-10402008-maytag-25-7893-washer-screw.html
http://www.pwslaundry.com/i-10402003-maytag-35-2026-washer-lid.html
http://www.pwslaundry.com/i-10409702-maytag-31001721-washer-dryer-screw-abno-8-18-x-3-8-hxws.html
http://www.pwslaundry.com/i-10402343-maytag-y2201474-washer-switch-pressure.html
http://www.pwslaundry.com/i-10409688-maytag-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10402344-maytag-21002056-washer-timer.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10409686-maytag-21001547-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10402340-maytag-12002749-washer-hose-flume-kit.html
http://www.pwslaundry.com/i-10409702-maytag-31001721-washer-dryer-screw-abno-8-18-x-3-8-hxws.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10402341-maytag-21002077-washer-shield-control-1-hole-console.html
http://www.pwslaundry.com/i-10402009-maytag-35-2044-washer-hinge-lid.html
http://www.pwslaundry.com/i-10402290-maytag-21001932-washer-valve-water-inlet.html

16 21002174 Timer Skirt

18 21002196 Knob-Selector

20 21001965 Frame, Control Panel, Support

22 35-2846 Hinge, Cabinet Top

24 35-4128 Pad, Hinge

26 25-7893 Screw

28 21001134 Lever, Lid Switch

30 31001560 Washer, Roller

32 31001721 Screw, Abno.8-18 x 3/8 Hxws

34 25-7438 Screw

36 21001135 Housing, Lid Switch

38 43-0057 Actuator, Door Switch

40 35-2045 Pin, Hinge

" 35-2378 12002749 Hose, Flume Kit


http://www.pwslaundry.com/i-10402317-maytag-12001187-washer-kit-lid-switch-assembly.html
http://www.pwslaundry.com/i-10405583-maytag-21002174-washer-timer-skirt.html
http://www.pwslaundry.com/i-10402774-maytag-21001972-washer-knob-timer.html
http://www.pwslaundry.com/i-10411781-maytag-21002196-washer-dryer-knob-selector.html
http://www.pwslaundry.com/i-10409685-maytag-21001546-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10409890-maytag-21001965-washer-dryer-frame-control-panel-support.html
http://www.pwslaundry.com/i-10405584-maytag-21002146-washer-facia.html
http://www.pwslaundry.com/i-10402258-maytag-35-2846-washer-hinge-cabinet-top.html
http://www.pwslaundry.com/i-10415317-maytag-681414-washer-dryer-screw-10ab-x-1-2.html
http://www.pwslaundry.com/i-10409682-maytag-35-4128-washer-dryer-pad-hinge.html
http://www.pwslaundry.com/i-10402286-maytag-21001760-washer-flume-assembly-water-diverter.html
http://www.pwslaundry.com/i-10402008-maytag-25-7893-washer-screw.html
http://www.pwslaundry.com/i-10402268-maytag-21001602-washer-top-cabinet.html
http://www.pwslaundry.com/i-10402267-maytag-21001134-washer-lever-lid-switch.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10402359-maytag-31001560-washer-washer-roller.html
http://www.pwslaundry.com/i-10402360-maytag-21001857-washer-clip-plastic-snap-in.html
http://www.pwslaundry.com/i-10409702-maytag-31001721-washer-dryer-screw-abno-8-18-x-3-8-hxws.html
http://www.pwslaundry.com/i-10402269-maytag-21001597-washer-dispenser-bleach.html
http://www.pwslaundry.com/i-10402006-maytag-25-7438-washer-screw.html
http://www.pwslaundry.com/i-10409702-maytag-31001721-washer-dryer-screw-abno-8-18-x-3-8-hxws.html
http://www.pwslaundry.com/i-10402266-maytag-21001135-washer-housing-lid-switch.html
http://www.pwslaundry.com/i-10407439-maytag-3400872-washer-screw-8-18-x-3-8.html
http://www.pwslaundry.com/i-10402005-maytag-43-0057-washer-actuator-door-switch.html
http://www.pwslaundry.com/i-10409699-maytag-25-7430-washer-dryer-clip-wiring-harness.html
http://www.pwslaundry.com/i-10402007-maytag-35-2045-washer-pin-hinge.html
http://www.pwslaundry.com/i-10402340-maytag-12002749-washer-hose-flume-kit.html
http://www.pwslaundry.com/i-10402340-maytag-12002749-washer-hose-flume-kit.html
http://www.pwslaundry.com/i-10402010-maytag-35-0581-washer-bumper-door.html

	Maytag PAVT910AWW 03 - CONTROL PANEL & TOP

